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3t & forw HFSAU / Instructions to the Candidates

1. war o3 gdem gieaer & ®U & Q9| FAE uat W) welr it o Aeaiea fha

ST /The question paper is in the form of test booklet. All candidates will be
assessed on identical questions.

2. 3o for@a ¥ @el Ui A ada i ofd & @y e F U HTANR FW
gRde Saeey a1$ S| I=detd e A ufd & HTHIR P @ e St
o 3nadf @ dfg & / A separate OMR answer sheet with carbon impression

is provided to all candidates for answering. The carbon impression of the OMR
sheet will be detached and handed over to candidate by the invigilator.
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10.

W T8 UH TE s qAT / AT @EAr & @y fREr Smeen, sl Ay sw
fdeT (®), (@), (@), T (F) AP FN 37 F TH & W S gOw / Each
objective question is provided with a text and/or figures wherever applicable
with multiple answer choices (a), (b), (c) and (d). Only one of them is correct.

. NTAIR e W RE v gl & o & ud| U SRt B REAd o qur
s ¥g Faa AT AT FA G GiEe dAH B @ UAET B / Read the

instructions on the OMR sheet carefully. Use only Blue or Black Ball Point Pen
for writing on OMR sheet and marking your answers.

T TgAs R & us F W SR ¥ WA TH b g
I 3TRT & TIT PIE ARRICHS 37 el & / All objective type questions carry

equal marks of ONE for a correct answer. There is no negative marking for
Wrong answers.

T U &g Y 3T & W 3H el S @ AT S|
Multiple answers for a question will be regarded as a wrong answer.

. 3OTF P W T6 F &g JRaa # B 7w R wua &1 3039 & ¥ §
3 & PE o ofie Suesy A& HUS el / Space available in the booklet
could be used for rough work, if required. No separate sheet will be provided.

.aﬁa&rm&sﬁva@amwmﬁ,mwaﬁwaﬂmaﬁlm
I UH Bl DY Hbd & T a1 F B U & & / Do not waste time on

questions, which are too difficult for you. You can go on to other questions and
come back to the difficult ones later.

.odem & uyH 6 & elua nafiat @ uflam @@ oz & gAfa a9 g
Candidates are not permitted to leave the examination hall during the first hour
of the examination.

TfieT F FAE B W (1) W Ruee g AR oden & gd Ree aur (2)
MNTHIR 3R gReaar et & Al & aur fedr off gara & 3l 58 aew A
o ST / At the end of the test (1) Hall Ticket(s) with photograph pasted on it

and (2) OMR Answer Sheet shall be returned to the invigilator and shall not be
carried by the candidate under any circumstances.
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1. gfieEr arg & anrd €6 fFEd ae g@ldl §?

a. oWd TellU = WA GAY — T FHI
el T — AT 9T
Cost slope =Normal Time — Crash Time

Crash cost — Normal Cost
b. A TG = $he HAI X A AT
heT AT — ATATST AT
Cost slope = Crash Time x_Normal Cost

Crash Cost — Normal Cost
c. O TOU = $HhY AN — AT dANTd
AT FAI — $hel oI
Cost slope = Crash cost — Normal Cost

Normal Time — Crash Cost
d. T FU = AT AP — shel NI
AT AT — Ay TAY
Cost slope = Normal Cost — Crash Cost

Normal Time — Crash Time

Cost slope in a project cost is equal to

HAefes BOD & ATUT STAT &2 Standard BOD is measured at

2

a. 20° C — 2day

b. 25° C - 3day

c. 20° C — 5day

d. 27° C — 5day

3. UEr & e ohE UT AT ST §? Turbidity of water is measured on
a. TARAH PraTec YATET Platinum Cobalt Scale

b. HTA® PlaTee UATAT Standard Cobalt Scale

C. AAd AfrdT YAET Standard Silica Scale

d. AR Teifeaiat YA Standard Platinum Scale

4. e & ¥ Flaar Rax asd & S a9 8

Which of the following tests for Sewer lines is correctly matched?

a. STeT OJETuT — &uT Sidey & folT  Water Test — for checking leakages
b. oY ulleror - {aR arsd F d9ua H F & T Mirror Test — for checking the

straightness of sewer lines

c.  gfer gdleror — AR ded # Rl cgaurd i S & forT Ball Test — for detecting any

obstructions in sewer lines

d.  3udd WHT All of the above

5. T & Q Blaar @@ E, 3 Qp - waew @™ (cumisec), k = IAITE IOTH, Pe =
wifde aufger dedr (cmihr), A = HTHAT 87 TFI A
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Which of the following is correct, where Qp = Peak Discharge in cum/sec, k = Runoff Coefficient, Pc =
Critical Rainfall Intensity in cm/hr, A = Area of Catchment in hectares

a. Qp=KA
36Pc
b. Qp=36__
KAPc
oA Qp =KPc_
36A
d.  Qp=K.PcA
36

6. caid e (cum/sec) BT THT (hrs) & [AFE U Hdd TAlc/AH fhd UehX BIMM?
A continuous plot / graph of instantaneous discharge (cum/sec) v/s time (hrs) is

TEEAATE Seismograph

EESTUTH Hydrograph

PIETATH Cartograph

Telg A% Flood Graph

a o o o

7. AR = dwE &, Q= T[EE &, s = P F WSRO, t=FHT ¥, A FoIS FEaq A
qrded HBIOT AT B?

If | = Inflow Rate, Q = Outflow Rate, s = Storage in a reach, t=time, the continuity equation in flood

routing is
a. I+ds=0
dt
b. Q-l=ds
dt
. I-Q=ds
dt
d. I+Q+ds=0
dt
8. Rollca awya & dFeored & U qa & g T @ gade (XY) #
Jeod & T . & TR AT ST B
The s is used for converting point locations on a map to plane (x,y) coordinates for digital
processing

(a) fEohersaR Digitiser  (b) YTFCHIIX Rectifier
(c) PATET Converter (d) FIAAT Processer

9 e # O Plaar a9 & &2 Which of the following relationship is correct
a. Ip=WI+Wp

b. Ip=WIxWp

(o Ip = WI/Wp

d Ip= WI-Wp
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where Ip = Plasticity Index, Wl = Water content at liquid limit, Wp =Water content at Plastic limit

10. T3SRA &I T@TI%’ e A T ST T ST &2 The depth of foundation is computed by
a. W A Coulomb’s formula

b.  Tdehel T Winkle's formula
c
d

{&hT3T HF Rankine’s formula
TS HA Westergard's formula

11, 3qarfear oderr & T fFg W UcdeT UwquT gJ&Tor fRar Sirar &2
The direct shear test is ideally suited for conducting drained tests on

a.  TH® HAT Cohesive soils

3D HET Cohesionless soils

FHUHAT FHcl Clayey soils

30w A All of the above

2o o

12. USH B58e I TABIdT &l T HROT &2 The failure of a pile foundation is due to
AT HURYUT Mixed shear

f&¥¢UT 3UEUUT Punching shear

AT HAEUUT General shear

TATAT HUYEFYUT Local Shear

o 0 T W

13. U5 30/40 &1 A &1 FAT IR 2 Bitumen of Grade 30/40 means
SHAT B AT 3mm e / Its penetration value is 3 mm

SR Bed AT 4mm$ /lts penetration value is 4 mm

THEFT S AT 3-4mmE /Its penetration value is 3 to 4 mm

SHPT G AT 30-40 mm § /Its penetration value is 30 to 40 mm

a 0o T o

14, IR FE T TR & aEdiae AAT Hed TA'E, A ST dlforer & A TRepd
Ya wd # 159 3RS ¥, A TAded Ay Uiy w1 gem?

If the actual observed value of Standard Penetration Resistance is ‘N’, is greater than 15 in a fine sand
layer below water table, then the equivalent penetration resistance will be

=

15+ (N +15)
2

b. 15- (N +15)
2

15+ (15-N)
2

d. 15+ (N -15)
2

o
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17.

50 RS SIS &l ATH ddiU / Name the Rivetted Joint

RS 1S Finished Joint

TS SIS Edge Joint
o S8 Lap Joint
¢ S5 Butt Joint

L

SR

=g & Pigar Naes ted & / Which of the following Rivetting pattern is shown in the

drawing

A RAFET Chain Rivetting

zrges Nafdar Diamond Rivetting
T&Irs RATET Staggered Rivetting
T A A HS % None of the above

L olaTs arell T 197 &1 AfQAwpdd fagua

The maximum deflection in steel beams of length ‘L’ should not exceed

a.

b
C
d

18.
If Stiffness Matrix = [S] & Flexibility Matrix = [F],then [S] =

d.

b.
c
d

19,

a 0o oo

L/500
L/1000
L/100
L/325

I FoRaT ARFa=[S] auT FFgar ARFH=(F] &, a [S]=

[F]™
[S)?
[F)°
[F]

=g A HT olarS el Bl &2 The length of a revenue chain is

100ft

=T & fem@mw v g Bl UgTIfaU / Identify the type of truss shown in the fig.
e £ Warren Truss

(b) 66ft

@'EI £ Howe Truss

dard i?—g‘ IT §H Bowstring Truss

foreleh ZE Fink Truss

T av T &1 3ARaA BM fhadar 819M? The Maximum BM for the fig. shown is

Mmax
Mmax
Mmax
Mmax

= ML

=ML/ (a+b)
=M

= ML/ (a+b)’

(c) 50ft

(d) 33ft
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22. T Aurd orach aUel §? Poisson’s Ratio () is equal is to

a. u = - A e

Heed darE

pu=-__ (Lateral strain)

Longitudinal Strain
b. p = UIfAe dad X 3EeEd ddmd
i =Lateral strain x longitudinal strain
c. W =-3gded g1
urfAis T

i = - (Longitudinal strain)

Lateral strain
d. K = UIfATeh e

HFeed dera

pn = (Lateral strain)

Longitudinal Strain

23. 5T & ¥ Fiaar/a gAEoT & £2? Which of the following equations is / are correct
E=3K(1-2 )
. E=2G(1+p)
c. W= (2G-3K)
(2G+6K)
d. aa bgsr Botha&hb
where | = poison’s Ratio, E = Youngs Modulus, G = Shear Modulus, K = Bulk Modulus

24, U 7w RF & ‘A’ uT FaAT BM &19? What is the BM at ‘A’ in the fig. shown

a M = +18KN-m
b M = -8KN-m l
3 kN/m 1 i s
C M = +4KN-m A
A 4m B
d M :-SKN"m < I

25. TA & fow cardl 31Ut @ A T g &

The value of Poisson’s Ratio for steel varies form
a. 0.20t0 0.25

b. 0.25t0 0.35
C. 0.35t0 0.40
d. 0.40to0 0.55

26. fNeremee & Aifas @ swaier @or AT 7 fRdar =g 3E BT ©?
What is least count in measuring horizontal and vertical angles in theodolite
(a) 80 seconds (b) 10 seconds (c) 20 seconds (d) 40 seconds

DM1-A-5



27.

AT gdeToT H, Thes b T w1 AT Bl &2

In chain surveying field work is limited to

(a)
(b)
(c)
(d)

haeol TWIT ATY linear measurements only

thdol PIUNT HIT angular measurements only

Y& g oy AT &1AT both linear and angular measurements
ST H A EﬁTé el None of the above

3Teihs H, ﬁ'l% /‘Ky T QAT ©? In Auto CAD, the symbol /‘\,/ indicate to
WWT oS &7 AT Measure the aligned length

ey Flﬂ'l'é &l HATT Measure the radial length

37IITd DIOT & HATT Measure the angle of inclination

G 0 o) Lo Hﬂ'l'é’ &l AT Measure the arc length of rotation

5 & ¥ diaar AT @1 A el Which of these is not a Grade of cement
33 Grade Cement
43 Grade Cement
53 Grade Cement
63 Grade Cement

e & & PlTa GHTIT B Teh HTEYOT TET0T &2

Which of the following is an Abrasion Test for Aggregates?

a.

b
G
d

i

32.

3ad 3UEYUT GII&TUT Deval Abrasion test

3N 3UEYoT GdI&ToT Dorry Abrasion test

1 TITed 3TUEYUT UIIETUT Los Angles Abrasion test
3uddh FHT All of the above

vforss &1 30U fhgd 811 2 Alidade is used in

(a) SRIACT Tachometry (b) TI ¢dTldT Plane Tabling
(c) ATHIT Chaining (d) SPUTH FdeTuT Compass Surveying

FePIe I FRAGTAIT AU F T Hlaar gdeor har e &2

Which of these tests is used for measuring workability of concrete?

a.
b
C:
d

33.

e gd&ToT Vicat's test

a7 &7 TO&TUT Vee Bee test

geadl T{I&TOT Soundness test

g H ¥ BIS A8 None of the above

&2t ) yeer & fov Ao & @ fpg weed & suer fear arar g2

Which of these Kilns is used to burn Bricks

a.

a o o

el QTF HCCT Bull's Trench Kiln
EITHA AT Hoffman'’s Kiln
Telel HCCT Tunnel Kiln

SCI?;T-F FHT All of the above
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34, faea & ¥ Plaw pRA Aee@e ggrd 7@ &2
Which of these is not an Artificial Pozzolanic Material

a. oS VU Fly Ash
f&rferenT el g Silica Furnace

b.
C. eollEe el Q-T'l'lé Blast Furnace Fly
d. o Td AoH Clay & Shales

35, TeT F ¥ PiAar Tl P AT 2 Which of these is a Steel Alloy
PIHA-TThel TEA Chrome — Nickel steel
el &eay Nickel Silver

leglel Aldural
%ﬁEFfIH 9T Electron Metal

o 0 T o

36, 3icIaFad UdeToT @ A9 & forw fRAr ST g
Autoclave Test is performed to measure the

a. f&#e & Tedl Soundness of Cement

T & e Bulking of Sand

Jdic & ufisehadr Fineness of Cement

THTTT & URSpHa AUIH Fineness Modulus of Aggregates

o o T

37. & & AEA0 & Ru v R F wlaar a5 g mar g2

The following fig. shown indicates which of these Bonds in a Brick Masonry

a. Teal &S Stretcher Bond | l |

b. Fxey &5 Header Bond l l l l
c. BT English Bond l l |

d fS9T-319T &8 Zig — Zag Bond [ | | |

38, AT, preiEIsse, Yo waur e Rhad Seresor &7
Sugar, Carbohydrates, solvable salts, etc are good examples of

a. caRT Accelerators

b Fch Retarders

¢, el HUAIh HE Water Reducing Agents

d. arg ufdas @b Air - Entraining Agents

39, dhehle TAAOT A & oo & qUH B W g8 FAET d [T 3aedqn & ¢

is separating out of the constituent parts of Concrete Mix, so that the mix is
no longer in a homogenous and stable state

a. ofeTd Latiance

b. TATd Bleeding

C. I Segregation
d. TTATEIT Guniting

DM1-A-7



40. T #H ¥ diaar @9y Eﬁ Hﬁ %?? Which of these relations is not correct
a 1 acre = 2047 sqm

b 1sgm =10.764 sft

c; 1 hectare = 2.471 acre

d 1 sg. mile = 2.59 sg.km

41, T Uk € 25cm X 12cm X 6¢cm &I & Al 15m &I, 3m Fdl T 50cm AT GAR dde
¥ foT fraeh 3t & 3maegdar arefi?
How many bricks are required to build a wall 15m long, 3m high and 50cm thick, if each brick
measures 25cm x 12cm x 6cm

a. 16500
b. 14500
c. 12500
d. 10500

42. M2533 @hic HY Folaglel shichar QAfh el aaf?

The Flexural Cracking strength of M 25 Grade of concrete is

a. 1.5 MPa
b. 2.5 MPa
G 3.5 MPa
d 4.5 MPa

43. DA Hold Pl ~geicddl Rhcal 3TaR0T P ITaTehcl Bl &7
The minimum cover to a column reinforcement of

a. 20 mm
b. 30 mm
C 10 mm
d. 40 mm

44, YEuTRafaa @i & suaT & AU 6 ®is &1 yaeT e &2
Which of these codes is used for practice of Prestressed concrete

a. 151343 - 1980

b. 151536 - 1989

c. 1S 800 — 1984

d 1S 456 — 2000

45. degrE & aX & [T, gh &1 Uhlsl AT FAT Y

For a bar of diameter'd’, the anchorage value of hook is

a. 2d
b. 4d
C. 8d
d 16d

DM1-A-8



46.

fwerdT & Qd EXeT Ud SUMAT avgewar H Fpd WA HT Dl §?

The acceptable limit for the safety and serviceability requirements before failure occurs is called

a.

b
c.
d

47.

sifeRar UTE’;?." Breaking point
Tawerdr tﬁé_cf Failure Point
TIAT HTEAT Limit state
deIdl Ductility

ue R FAYiRa dier & Aeie & gAfdawor W 15:456-2000 ERT @S 1S ST
i et &2

The maximum limit imposed by IS: 456 — 2000, on the Redistribution of moment in a statically

o 0o T o

48.

Indeterminate Beam is

10%
20%
30%
40%

e & @ Blaar suNFEr sawAr & @A TE@ 57

Which of the following is not a limit state of serviceability

a.

b.
€.
d

49,

fI8TaaT Deflection
f&®T5 Durability
ohTehaT Cracking
TIA Torsion

g dnhic &7 28 T & carus A & qd-dad Td dadaR # SUAET @ §, i
5T # O hAU: BT BT AMRT?

28 day compressive strength of controlled concrete to be used for Pre-tensioned and Post-tensioned

o 0 T

50.

work respectively should not be less than
40 MPa and 50 MPa
50 MPa and 40 MPa
53 MPa and 42 MPa
40 MPa and 30 MPa

HRAT YT & i I ¢ W b U3 UfddR @ldr &2

The Grade compensation on a Board Guage Track in Indian railways is

a.

b
of
d

0.02%
0.04%
0.03%
0.05%

e # O aladt IS & FE §2 Which one of the following is not correctly matched
e eFE - ﬁg@ﬁ thehe fREOT FT BB Marshal test — Design of Bituminous concrete
Mix

TAY TEC — FERTec WA &I ATSIT Penetration Test — Gradation of Asphalt cement
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o o1 g afer eFe — 3yuyur AT &1 YR Ring and Ball test — Determination of Abrasion value
d. ddddAd @ TFC — 0T BAT8 Benkelman Beam Test — Overlay Design
52. ¥d & geadl " FT %’? Bulking of Sand means
a.3d & Idd H HHAT Decrease in volume of sand
b.¥d & IFaA A Zﬁlé gedTd A%l No change in volume of sand
c. YT & AT H HTHTET E[ﬁ} Apparent Increase in volume of sand
d. caita ¥ BAfa Quick Sand condition
53. arfarr v areRl ar AA-uReRl fedd § S &1 T Terd &l
Varnish is a transparent or semi-transparent solution of resinous substances in
a) o= Linseed
b)  eIderdd Turpentine
c) 3edigd Alcohol
d)  3udE T All the above
54. W38 6 s T HIT & Hdd P Hde & T & drd & FEY B R Bed 87

The portion of the building between the surface level of the surrounding ground and the level of the

a 0o T o

55;

ground floor is called
BI5320 Foundation
Y Plinth
Frde Carpet

U FCFAY Super Structure

TR AD TEATF F AR, AZTeR 3¢ & aqEdideds MHR FAT &2

According to Indian Standards Institute, the actual size of modular bricks is

57,

a.23cmx11.5cm x7.5cm
b.25cm x 13 cmx 7.5 cm
c.19cmx9cmx9cm
d.21cmx10cmx 10 cm

TdeToT F AafeldT &7 §? What is leveling in surveying?

aeT Y A1 AT HLAT to find height of the building

gedt 0¥ fafdesr fgt & F=r$ A @ to find heights of different points on
earth

Ug fil 55 ATd IT to find height of the tree

?—RTé P AT SAThI DI FHIS AT to level the uneven areas of the terrain

AT Fdetor A, A9 & 100 o 1Y &1 uAd foid & darg fhdedr g &2

In chain surveying the chain is composed of 100 links. Each link having length of

(a)

50cm (b) 10 cm (c)40 cm (d) 20 cm
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58. {HY TIAA &T FAT oA &2 Advantage of total station is

(a) s, TR HIoT T {ﬂ T HATTA measuring vertical, horizontal angles and distances
(b) SEATYT PIUT & ATAA measuring vertical angles

(c) &TAST PIUT &I HAUA measuring horizontal angles

(d) ’.ﬁﬂg HATTOA measuring heights

59. HJ AMBA U Ueh q&q B ..oooeeee, gl JHThET HEel &l
An offset is a distance of an object measured from survey line.
(a) UTfAT Lateral (b) AT Horizontal
(c) GTHATET Normal (d) AT Inclined

60. T P TAA JeoTdel arel FAGHT P Sisel arell Preuiares Y@ A FIT e &2
An imaginary line joining the points of equal elevation on the ground is

(a) @I FFE contour surface (b) PIgT ATSACT contour gradient

(c) Eﬁ?{{ I@r contour line (d) el T@T level line

61. 20FeT 9 F 3P fhaar Teafear adr 82

- The maximum tolerance in 20 meters chain is
(a) +/-2mm (b) +/- 3mm (c) +/- 5mm (d) +/- 8mm

62. ahrg HUH N 3uAT fhA AR & Tow fHar Srar &2

Magnetic compass is used for measuring

(a) 3-1?:?@21 Azimuth (b) @1 AN Grid north

(c) aredide A1 True north  (d) Jaehrd A1 Magnetic north

63. IfE Tk B.M. &T R.L. 100.00 m &, Ur4T £ 1.215 m dAT 3T 1.870 m &,
ar 3rTel TS & R.L. fhdar geme?

If the R.L. of a B.M. is 100.00 m, the back- sight is 1.215 m and the foresight is 1.870 m, the R.L.
of the forward station is

(a) 99.345m (b) 100.345 m (c) 100.655 m (d) 101.870 m

64. T Srafeldr T & TP P 3R Al @I IAT &, a W&T0T gRT 0T fehw
T NegEs dad Har gem?

If the staff is not held vertical at a leveling station, the reduced level calculated from the
observation would be

(a) ar&dfasd R.L. true R.L.

(b) areafas R.L. & 31f& more than true R.L.
(c) arEdfaed R.L. & & less than true R.L.
(d) 5T FA Zlﬂé %I none of the above

65. hiF TETH &I ST EI'TQ‘.T T %? Cross staff is an instrument used for
(a) Wﬁﬁ ST PIUT ATTT H measuring approximate horizontal angles
(b) TS IOT aTRT & F setting out right angles
(c) msaT T JINA ATGA A measuring bearings of the lines
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(d) ST #Fa Ehéfé &l none of the above

66. TAETOT &l E G f&ETId &A1 §? The basic principle of surveying is
(a) A F AT &1 3T B To work from part to whole

(b) AT F HAU &1 3T PR To work from whole to part

(c) U,:ffl' T gfRH & 3T FRT To work from East to west

(d) T ¥ ST0T A 3 P To work from north to south

67. SIS AU & folT foh@ T 3UANT AT &2 Height measurement can be done by using
(a) IeaaArdHIey Galvanometer (b)ﬂﬂﬁ?ﬂﬁ'{ Thermometer
(c) T Level (d) ToleT €Tl Plane table

68. Y@ AUA & forw fFg 3Usor &1 IuAeT fRar STdr §°
Instruments used for linear measurements are

(a) TAAEIASE Theodolite (b) BTSTeer el Digital level
(c) @FATH Compass (d)éﬁ":@r EDM

69. oIdTeldT T &I =1 IUTAT AT 2 Least count of leveling staff is
(a) 0.01m (b) 0.5m (c) 0.0005m (d) 0.005m

70. foaretemse & 3meR fras g RAfAfde gar &2
Size of a theodolite is specified by

(a) ETERIT Y S the length of telescope

(b) ZEATYY g @l <ATH the diameter of vertical circle
(c) TAF Tole &I <TTH the diameter of lower plate

(d) 39 T &l <O the diameter of upper plate

71. JIATH RO gRT TATRG fFT a1T? Bench marks are established by :

(a) TBTAIHAIEY Hypsometer

(b) RAeT Barometer

(c) TRuRe dae Spirit level

(d) TSATAIT ATl Trigonometric level

72. T tad waeTor #, a1 g Heredn vd i fRig A Ha1 &7
In plane table surveying the two point problem and three point problems are method of

(a) 3TOEd Resection
(b) 3FfHTI=ATE Orientation
(c) URITAA Traversing

(d) 3Toed g AfAA=ATT Resection and orientation
73. fIOEIeTSe SUSOT 6 SUAIT F AT AT AT &7

DM1-A-12



Theodolite is an instrument used for measuring

(a) haer &IfAST PIUT horizontal angles only

) ad gl distances only

(c) hael Sfast Ta 3%aTIT P horizontal and vertical angles only
) el ZEATUT PIOT vertical angles only

74. drEdias AARIT T e AN & dra & &fdsT PHoT B F=A1 Fed B2

The horizontal angle between the true meridian and magnetic meridian at a place is

called
(a) TEITLr azimuth (b) 37T declination
(c)?:_j,a'cﬁ'l'q IIIT magnetic bearing (d) frs A1 grid north

75.  1:5000 YT aTol & A, Toh fhaT fFg YR gATar SArdar &7

In @ map of scale 1:5000, one km of ground is represented in
(a) 40cm (b) 20 cm (c) 100 cm (d) 50 cm

76. A & ¥ plad) 3= ofd ARSI Feardr &2

Among the following which is called high image resolution
(@) 10cm (b) 35 cm (c) 20 cm (d)5cm

77. WA Y&IoT & foRg AT A SATAT SATAT §2 Parallel projection is also called as
(a) WY DIUT Y&IIoT 1% angle projection

(b)  3irfafher WeITUT Orthographic projection

(c) T hIoT F&UoT 3™ angle projection

(d) TATAIT WU Isometric projection

78. UH I fopell fohcaT AT £? One sq.km is equal to
(a) 10 FCTI/ hectares (b) 100 £FETAI/ hectares
(c) 1000 #&FCIAI/hectares (d) 10000 BFCTT/ hectares

79. faFa & @ 5w adetsd grr gt & Tag & TIY ScUed AT 87
Earth’s surface maps are produced by the following Surveyor

(a) 3‘7‘%@?—[ gdets Cadastral surveyor

(b) crarnftees Tderd Topographic surveyor

(c) ETxﬁﬁ'ﬂT HdeTh Engineer surveyor

(d) H@ra gdeTh Mine surveyor

80. GIS &7 §? Whatis GIS

(a) Geographic Information System
(b) Geological Information Service

(c) General Interpretation System

(d)  Geophysical Interpretation Service
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